R A &% ®M 7 % 4 A
XEBEBRBE(SMIESA/BEE) 5 2 B R
HRFTRERSHENS
1 2E7—XMESL 4743831 BHE 2 BTFO#EERR
—"[51'-%‘ TE%’%*,”——’E% [ EE_ K5 |ewrecn| 4 8| REt |@ ®
2 | = 35 +1 ANEBBIER 2,024 —-22 5,773 —1
2 |F E- 35 X0 [EBE%| 2,380 +6| 6,676 +33
4 | & & 32 +20 ENES 57 +12 162 +4
7 |= N 25 -10 LA 10 =3 25 =10
mirssng| 19,489 —-879( 52,209 -872
3 BFTHROHEERR 6 EERRREEHS
Ry |sm7#sh| # O | RE | #E OB Ro | 65| | &5 | B
AEBRAER 28 -5 95 +11 | HEEH 6 6
EGER 28 = 700 +7 HiZH 13 13
EX:ES i 6 +3 REH 21 2] 19
3 & H i + i +1 EE 13 13
WRAB R 247 —3 745 —16 EXEE 13 2] 11
B 18 1 17
TIEH 11 1 10
5 ﬂEi%:*EEIJ?EﬁﬁmﬁE r 4 LUEFANERFHEEY
SH74£E3A E 1 = 3
BN E 56 | B | A5 | R | e | 56 | ©6 | &5 | ER =5 [EEEY| R
FE 2 2|+ 7 7] +3 EXES 21 +11
= 5 5 -3 15 5] -3 EEES 14 +2
—g 1 18] 19| -3 4 65 69]  +9 FaE /N
e 1 3 S 1 2] 13 6] +2 i 14 +5
K3 1 1 28] 30] -4 1 6] 100] 107] +11 Wi 58 =7
¥ ~ 16k —ME 25m~64m Z0H
EE 16m~24% =k E 65/~ i 107 11
7 PRAANEEBHEH
18 BsFeE
16 QHEM7E
8
§ n | B O _
530 M K% JkEE | #BILER | #BILTE | TRE | REBE | B £iR ] =il Fl AL ] wmE (IR
BSF6E 8 8 5 6 9 15 2 2 1 6 4 4 0 0 4 10
@sM74E| 10 6 7 12 11 19 2 0 0 8 1 1 0 3 11
AR R HHNBEEIE L E N
Z AR a3 1))
H| % | % | @ = E | 5|4 JIU| AR [l | oo | | 0% | BE 2
)] 6| 332|251 11 1] 3
L HE 10776 T e 8774 391
H 1
i BETS | i 1
= A 1
e e | sty 15 i3
' asm | A 6 3]3[2[3]4]1 111 T3
# b #i 188 AR g g8 3%
S5 | A 61342 |3/5]1 1 1 1.1.8
= {%; 877787178 183163 (I 3713
a ? 2| -2 %2 +6 | +2 | +4 =2 |-1]=+2 =3 |+ =1].+
R K¥ TR T SET TR R TR ]
1. SARETER1EH 18 FTEL+14., +18) BEESEH 14148 FiFELL 0. +048) BIEER264-284 (RiFEH-64
B -sR)MESBEERE247H ML —3H) RELTEYET.
‘!; 2. BGEELEROMMTT . [LFENIOBHROEFIE. B TELELTEADRERBELELNLET,
1| |3. REI#-LED/SUFIL. Ko THEFS, BIKEBFI<HIEITT! !
4. 1Dz EYE, ETOANIZHLTRNPYZH>-BEEHFELLET .




TH78F ERXRANRBSHMER

i
12
. ]
8 ]
e e
13
6 =
e . o 10|
9
4 e
7 7 7
6
5 5
2 4 .
= 2 2 = 2 = =
U [ B OO d/|oddd . EEL
BR RN HHEF B fHEE MR FE KE  KF HE REF TREF EH O A #HE 73 N%Ja FRLE #FLE WO
BT 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0
BE% o 0 0 0 0 0 1 0 0 0 0 0 2 0 0 0 1 0 1
Q&5 -5 1 2 2 1 7 7 13 7 2 1 6 9 5 4 0 1 1 10
BR | FN &3P R\ (HEE R | &IB | KkmE | KEF | & | MEF | THE =5 | A | #E | AR |/\EE[RLUEF: WA
ABEK 5 2 2 1 7 8 13 6 7 2 1 6 11 5 4 0 11
W-Eik 20 8 12 16 23 48 73 65 56 70 50 40 28 78 70 14 5 11 57




